AS PHYSICS - Can I cope with the maths?

Basically you need to be able to do two things to be able to cope with the maths in the first term:

· Deal with big and small numbers in standard form on your calculator

· Do GCSE level algebra to rearrange equations.

Prefixes - you need to learn these

	Prefix
	Symbol
	Means multiply by

	n
	nano
	10-9

	(
	micro
	10-6

	m
	milli
	10-3

	k
	kilo
	103

	M
	mega
	106

	G
	giga
	109


For all these examples, make sure you work them out yourself using your own calculator.

Standard form: Try these

1. 1.4 x 107 x 1.9 x 10-3
2. 7 x 105 x 1.3 x 10-10
3. 1.6 x 10-19 x 10-10
4. 7 x 10-10 /0.6 x 10-16
5. (7 x 10-3)2 x (
Prefixes: Try these:

1. 5.6km / 6.9 Msec

2. 7.9 mJ / 0.7 nN

3. ( x (0.5mm)2
4. 50 kHz x 1 (m

5. 4.6 GW x 7.87 Msec

All of the above are actually GCSE physics or maths formulae - when you have worked out the answers, look at your GCSE formula list and try to identify what you have actually calculated. Decide what its unit should be and (if you can!) write it in standard form using one of the prefixes above.

Rearranging formulae: Try these:

1. x = 7y

rearrange to make y the subject

2. 4x = 4.5y
rearrange to make y the subject

3. x = 3

rearrange to make y the subject

y

Cross multiplying


x   =  y


w      z

Rearrange this four times to make each letter in turn the subject.

And finally......... a few ‘real’ examples of the type you may meet during practical work in the next few weeks. Make sure you write each answer to the correct number of significant figures (no more sig figs in the answer than you are given in the question!)

1. Calculate the cross sectional area of a rectangular strip of rubber of dimensions 3cm x 0.5mm. Express the answer in m2
2. Calculate the cross sectional area of a circular copper wire of radius 0.4mm. Express the answer in m2
3. Calculate the cross sectional area of a circular wire of diameter 4mm. Express the answer in m2
4. Calculate the radius of a circular wire of cross sectional area 6 x 10-5 m2. Express the answer in mm.

5. Calculate the diameter of a circular wire of cross sectional area 3.2 x 10-5 m2. Express the answer in mm.

Manage that lot? You’ll be fine

Basically know what to do, but need practice? See me for more examples to try.

